EARAROBREBRT —5 XN—ZXBISH—F

20248848 (H) SHIEER4H

mﬁp:amz&hg C1=# 5% EEE N
[xE&] 15 :450,000H  23%&:158,000 @  33#&:90,000  43#&:59,000H  53&:32,000H
BE\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
» s s LLIAES S : - - FE (KR
1180l EyTyy—L—7 B4 i 1.(49).9 4-2 38.3 1 igf ké%rbj
R:TSVTURR 8: 7Y/ RS plIEsg e
==z < 5 | HER 1:42.3 2-2 38.9| — 3 24 | HRIESA OKR)
217|8| XAZYv—2 E 54.0 2 1/2) 2 |hEEEBR
RINMVTSY BRYRI—tAL—Y BRER 45
= £y 9 | SRIKE 1:42.6 5-5 39.0| — 4 504 | TiktaZE (B4
3 4|\ FT—TRAKS 56.0 a 3/4) 4y |EEES
RIN=VTS5A4 B:AAXAHAZAEU Y HBeI77—LA
= o~ BERE : - - FESF (ACR)
4 3| FLSRY 57 B { 1.{133).1 2-1 39.8 2 (4:376) §§§}—A{ 7
Rkt oO0—-U— B:EI9NUT7IL HE &
N o LLIATEES : - - I\FHEAE (&)
5011 FvERY MM "D a5 M R ’ ﬁ(’) o
RiFAIXIv— BRITA RV VIR FrIEFTIRT7—L
S = s 4 | ROMB— 1:43.7 5-6 4.0 - 7 | 453 | SER KR
EH 6| XM¥aATVTI L 54.0 (1 1/2) -9) Eﬁ*ﬂﬁi
RiXT T4 B:XAY3vA¥34« IREBHUS
-+ ty 7 | BREA 1:43.9 7-7 39.6| — 9 454 | BHZ (KR)
7155 |3NWT—E 56.0 a (-5) | BUEREIZ
R:EVFOYVY 8:2-9€T«ILR fiotd fth
<, 00 BaIBRLEE : - - {E2ARBEl KR)
sl 2 | EOVSN— 5 g b e ° ?934) KRERF
RiRSAYF BiRky NTLAN— [Felae]
= — 4 5 | IRHES 1:46.2 9-9 a5 — 6 471 | {EAARHE] (KR)
9l7|7|=IF A51.0 ®) 4y | ¥TFIT - RRIAVE @)
RII=IVIv3T BiAA4IvY HE B
- P - : -1 -1- BIZEE] OKR)
x| 8|9 | RRXA/ T AL R i (5% (4+981) IVEFA ’
RiZvF—74A4IL B:7RIAVST pu e ]
@ 11— —BERIEI
13—7F—
20—F—
BEIES /S 2,(3.,8),10, (4,6) ,5,1,7
40—7F— 3,(2,8,10),4,6,5,1,7
0 ILRE
BB 10 150/ JA R 8-10 1909 AR 7-8 390M 3ER 4-8-10 590
B B 10 1004 4-10 160H o 18 8-10 350 3Es 10-8-4 1,960M3
8 1509 4-8 400M oS- 1 10-8 690M
4 150/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



